MEACIDI									
C	EMENT SHEET								
Company N	Name:	GVRC	-						
Project:		Innopolis					Approved by:		V Ramesh Reddy
Work Desc		Power supply to Atrium area cassette AC and ODU	-				Sign:		
Contractor:		B Vijaya Lakshmi					Work start date:		01-04-202
Prepared B	y:	V Ramesh Reddy					Work end o	late:	18-04-202
		· ramesh Reddy					Date:		23-04-202:
S No.	Item Head	1. 7.							
	Cable laying to Atrium	Item Description	Length	Width	Depth	Nos.	Quantity	Units	Item Head Total
1	casette Ac	Laying of 4C 2.5 sqmm Copper cable from VTPN at atrium to casette AC	220	-	-	1	1 220 Rmt		
2	Cable laying to ODU	Laying of 3C 10 sqmm Copper cable from V.TPN at atrium to 2 nos of ODU units	80	-	-	1	. 80	Rmt	
3	Cable termination for 6 casette Ac and 2 ODU	Termination of 4C 2.5 sqmm Copper cable and 3C 10 sqmm Copper cable	-	-	-	16	5 16	Nos	
4	300 mm Cable tray	Installation of cable tray from Atrium VTPN to Casette AC in atrium and ODU on terrace	80	<del>-</del>	-	1	L 80	Rmt	
	Earthing for ODU	1C 6sqmm earthing cable connected from ODU to earth pit	110	· <u>-</u>	-	1	1 11	0 Rmt	
6	Cable termination	Termination of 1C 6sqmm earthing cable	-	-	-	-	2	2 Nas	

V. Parrech Reddy J. Parrech Reddy

ESTIM	ATIET SHEET						
Company Name:		GVRC			Approved by:	V Ramesh Redo	ly
Project:		Innopolis			Sign:		
Work D	Description:	Power supply to Atrium area cassette AC and ODU			Work start date:	01-04-2025	
Contrac	ctor:	B Vijaya Lakshmi			Work end date:	18-04-2025	
Ргераге	ed By:	V Ramesh Reddy			Date:	23-04-2025	
S No.	Item Head	Item Description	Quantity	Units	Rate:	Amount	Remarks
1	Cable laying to Atrium casette Ac	Laying of 4C 2.5 sqmm Copper cable from VTPN at atrium to 6 nos of casette AC	220	No	35	7,700	
2	Cable laying to ODU	Laying of 3C 10 sqmm Copper cable from VTPN at atrium to 2 nos of ODU units	80	Rmt	35	2,800	
3	Cable termination for 6 casette Ac	Termination of 4C 2.5 sqmm Copper cable and 3C 1	16	Nos	250	4,000	
4	300 mm Cable tray	Installation of cable tray from Atrium VTPN to Casette AC in atrium and ODU on terrace	80	RMT	75	6,000	
5	Earthing for ODU	1C 6sqmm earthing cable connected from ODU to earth pit	110	RMT	35	3,850	
(	Cable termination	Termination of 1C 6sqmm earthing cable	2	Nos	250	500	
						24,850	



## **Bill for Labour Charges**

B Vijaya Lakshmi Koltur Hyderabad

Date: 23-04-2025

In favor of:

**GVRC** 

Project / Site:

Innopolis

Location:

Koltur

Type of Work:

Electrical works

Towards:

Labour charges.

S No.	D	
	Description	Amount
1.	Brief description of work done: Towards power supply to 6 nos of	
	Atrium area cassette AC and 2 nos of ODU from VTPN	Rs. 9,940/-
	Total amount = $Rs.24,850/-$	
	Work done from date 10-04-2025 to 18-04-2025	

Amount in Words: Nine thousand nine hundred fourty Rupees Only.

Si	gn:
----	-----

## **Bill for Equipment Allowance**

B Vijaya Lakshmi Koltur Hyderabad

Date: 23-04-2025

In favor of:

**GYRC** 

Project / Site: Location:

Innopolis Koltur

Type of Work:

Electrical works

Towards:

Equipment Allowance.

S No.	Description	Amount
1.	Brief description of work done: Towards power supply to 6 nos of	
	Atrium area cassette AC and 2 nos of ODU from VTPN	Rs. 9,940/-
	Total amount = $Rs.24,850/-$	
	Work done from date 10-04-2025 to 18-04-2025	

Amount in Words: Nine thousand nine hundred fourty Rupees Only.

		Sign:

## **Bill for Consumables**

B Vijaya Lakshmi Koltur Hyderabad

Date: 23-04-2025

In favor of:

**GYRC** 

Project / Site:

Innopolis

Location:

Kolthur

Type of Work:

Electrical works

Towards:

Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards power supply to 6 nos of	
	Atrium area cassette AC and 2 nos of ODU from VTPN	Rs.4,970 /-
	Total amount = $Rs.24,850/-$	
	Work done from date 10-04-2025 to 18-04-2025	

Amount in Words: Four thousand nine hundred and seventy Rupees Only.

Sign:
-------

				Intl memo no. 918-001 - QS - A	nx B – Wo	rk Complet	ion Report				
Company	/	GIVRC	N 2	Name of contractor		a lakshini					
Project/si	roject/site I-non poles		e S	Nature of work	Electrical	5100	Dt. site bills reg.			23-04-2025	
Block no.				Work done from date	10-04-2025		M-codex bi			23-04-2023	
WO no.				Work done to date	18-04-2025		WO issued			No	
WO date				Contractor bill no.			GST Bill re	required?		Yes	
Sl. No.	Unit/floor	Deta	ails of v	work	Qty	Units	<u> </u>	Rate ID	Rate	Amount	
1				C 2.5 sqmm Copper cable from VTPN at sette AC		No	I	EL147	35		7,700
2		Layir atriur	ng of 3C m to 2 n	C 10 sqmm Coppen cable from VTPN at cost of ODU units	80	Rmt	I	EL147	35		2,800
3		Termination sqmm Copp		of 4C 2.5 sqmm Copper cable and 3C 10 er cable	16	Nos	I	EL157	250		4,000
4				of cable tray from Atrium VTPN to in atrium and ODU on terrace	80	Rmt	I	EL156	75		6,000
5			sqmm arth pit	earthing cable connected from ODU	110	Rmt	]	EL147	35		3,850
6		Tern	nination	of 1C 6sqmm earthing cable	2	Nos	]	EL157	250		500
7											
8											
9									<u> </u>		
						L		TOTAL			24,850
Remarks:	Work Comp	leted									
Approved	by project m	nanager		Approved by QS team				by Directo	r/E&D tean	n	
Sign:	W.	V. Parret led	dy	Sign:			Sign:				
Date:	0.4	1	7	Date:			Date:				

24/4/8